<I CTORY
] eam
2004 Catalog

High-Performance competition products for the
Nitro TC3, TC3, RC10GT, RC10B4, RC10T4, RC10L40 and others!

Precision



Monster: Gili Gas Truck

#25405
Side-Mount Exhaust Header

Monster GT RTR, #20500

(Tuned Pipe NOT
\ Included) #25387

#25395

&

BLUE TITANIUM TURNBUCKLES
25383 MGT Titanium Turnbuckle Set with Wrench............cc..cooeveviiiiinnens 44,99
25381 MGT Titanium Turnbuckle, Front (1)
25382 MGT Titanium Turnbuckle, Rear (1)

#25415

BLUE ALUMINUM (]

25385 NEW MGT Machined Chassis . - . #25400
25387 MGT Machined Head ............ccoovveiiiiiiiieiieciccr e

25390 5mm Lock Nuts (10)......
25391 4mm Lock Nuts (10)......
25392 3mm Lock Nuts (10)......
25395 MGT Steering Kit .............
25400 MGT Wheel Hex Drives.....

#25062

#25390 %W
25403 MGT Shock Bodies (4) .... . 5mm v - ;

25404  MGT ShOCK CAPS (4) .vioviiiieiiiee it . #25391
i DODO@

SILICONE DIFF FLUID

2390  TOK WBIGNT ....oiviiiiiiiee s 4.95
2391 30K weight ...... 495 #25064 #2539, DO OO O
2392 BOK WBIGNT ..o 4.95 3mm QQ Q
2393 TOOK WEIGNT ..ottt 6.95
2394 300K WEIGNT +.vvvvvvoroseoeroeeoeeeees oo e 6.95 & .
2395  Silicone Diff Fluid Set, 1 each of all above weights ........................ 25.95 \_‘f
s -t w’ W =

CLUTCH BELLS _S =S )
25370 14 Tooth Vented Cluich Bell S N i -
25372 16 Tooth Vented Clutch Bell .... #25063 O T O < v a
25373 17 Tooth Vented Cluich Bell .... -~ e —
25374 18 Tooth Vented Clufch Bell ~ - = < #2395

TN 8y Iy g Silicone Diff Lube Set
SPRINGS, $6.99 FOR FOUR
25062 MGT Blue Springs, Soff, 4.40 DS ........cccooovviiiiiiiiiii . Vented MGT Clutch
25063 MGT Gold Springs, Med., 5.10 Ibs.... . Bells
25064 MGT Red Springs, Firm, 595 Ibs .......... . 14, 16, 17, 18 tooth

25065 MGT Copper Springs, X-firm 6.90 Ibs

MORE HOPUPS m
1738 GIOW IGNITET .ot 29.99
1749  Nitro Fuel Bottle 400cc ....... RTURTRTRRTRR 7.99
7710  Pre-filter Treatment (1 0z.) .....covve.ne e ———— 2.50
25089 NEW Factory Team Muffler (blue) ... e 28.99 #25403 6 0

25378 49 Tooth Spur Gear ..........cccoeevveeens e ——————— 4.99 #25404

25379 46 Tooth Spur Gear ...........cccceevverrenienn TP 4.99
25384 NEW Monster GT Turnbuckle Wrench .. PR 2.99
25396 MGT Optional Steering Rack/Arm Only ...... VST 54.99

25397 MGT Optional Servo Saver Hub/Spring ... e 5.99
25398 MGT Optional Steering Hardware .......... VTP
25405 MGT Side Mount Exhaust Manifold .................. TSR
25407 NEW Monster GT Side Exhaust Wire Mount ............cccccooiiiiiinnnn. . b ol ;
25410 MGT "RODO” BIaKE DiSC ......vveeevireeiiieiiieeiiie et . ~

25415 MBT “FOrward Only” Kit ..........cocovivierierieeeeseeeeeeeee e, i - #25410

#25378 #25379



#1775 #1774 #1776 #1772 #1771 #1773

Nitro TIC3 Touring| Car;
Factory Team Nitro TC3 Kit, #2033 ~d '
(Photo includes parts not in kit) 4

#1756 #1755 #1757 #1759 #1761 #176'

#2354
#1763
#1764
#1765

4 Rear Exhaust Pipe #29091 #29090 #29092

L

p >
#) NTC3 Dual
ﬂ- .+ Chambered,

Complete Two-
Speed Assembly

: #1706 #2285

Blue Anodized kit —— =} #2040, #2041 TC3
#1754 chassis, #2224 #1752 #1712 M RTR's
BLUE TITANIUM TURNBUCKLES 1715 Front Blade ROl BAr Kit ...........cocoovvveiiiionieisiession, 40.00
1402 1.375 $8.00 1414 1.1259.00 1415 Rear Toe 9.00 1726 Titanium PIvot Balls (2) oo 1509 #1708
1713 Factory Blue NTC3 Tumbuckle Kit .............c.c.ccoveveerenannn, 2250 | 1728  Heavy-Duly Front One-Way ASSEMDIY ...........ccovvrvvrrrreen. 61.99 L PUll
BLUE ALUMINUM 1729  Heavy-Duty One-Way Housing, with bearings .................... 40.00 - Start
1698 Shock Caps (4) .................... (CEINERDNELDELY - 11.95 | 1730  Heavy-Duly One-way Outdrive CUP (PF) .........covovvvverreena, 21.00
1706 Center BUIKNBAd ..ot 22.00 | 1731  Special Bearings for Heavy-Duty One-Way (pr) ... ... 8.00 e Non
1708 Pull Start Mofor Mounts ......... ; ; .. 20.00 | 1732  Heavy-Duty One-Way Ring Gear ..................... ... 400 Pull
1710 Non Pull Start Motor Mounfs ........ = .M . 20.00 | 1738  Glow Starfer, blue anodized handle, 110V ... .. 29.99 = Start
1712 Main Drive Shaft ................... o . . 9.00 1749  Nitro Fuel Bottle, 400cc......... .. 7.99 #1710
1717 Blade Roll Bar Mounts ... 2400 | 1750  NTC3/RCTOGT SIAMEr BOX ....voovoovieioiiiesieeisienis 99.99
1777 NEW Shock Pivot Ball with Eyelef. PP 6.99 | 1752  Hard Chassis, BIACK ........cc.coovvivvrieieienieieneiesesien, 49.99
1779 NEW Servo Mounts (2) ...ovoovovvvieiiinieiiieiceeaaianns 15.99 1754 Hard Chassis, NOtUIQl ...........c.oocoovviiviiiiicieeecce 49.99
3888  CVD BONES (2) .ooovvieeiiiieeeeeeeeee e 22.00 2324 Non Pull 3 Shoe Flywheel ..... ... 9.00
3962  Threaded Body Shock Kit (Sef 0f 4) ....cooovvviiiiiiiiiiiin, 60.00 2325  Pull Start 3 Shoe Flywheel ............... ... 9.00
3963  Threaded Shock Bodies w/collar and O-ring (pair) ............. 20.00 2403  Foam Air Filter for Large-Bore Carb...........cccoovovvivivieiiinnns, 6.95
3965  Axle Bearing Spacers (4) ......cccooeviviiiiiiiinn, ... 4.00 3939  Front One-way / Solid Axle Diff Ring Gear w/Mount Screws ... 6.00
3968  Counferfeit Transponder “ 15.00 3960  Rear Anti-roll Bar Kit ........ccoooiiiiiiiiiice,
3972 Wheel Hex Drive Adapters (4) ... SEFFFY-- 15.00 | 7710 Pre-Filfer Treatment .............c..ccccoccoveviviirinenes
3973  Clamping Hex Drive Adapters, with screws (4) .................. 21.99 3964  Unobtainium Shock Shafts, .35” sfroke (pair)
6439 ShOCK CaP (1) v 3.00 | TOOLS
6943  8-32 Alum. Locknuts (B) .......c..ccceevevrrienns ... 4.00 1450  Ride Height Gauge, blue aluminum ............ccccooviviiriannnn. 14.99
6946  4-40 X 5/16" Button Head Cap Screws (6) .... ... 2.00 1719  Camber + Track Width Tool, molded composite .. ... 3.60
7673  4-40 X 5/16" Flat Head Socket Screw (6) ...... ... 2.00 1721 Clutch Nut Wrench, 3/8” .......cccoooiiiiiiiiiiiiieeeeeeeee 2.00
7873  4-40 X 7/16" Socket Head Cap Screw (6) .........coceevvvviveannnnn 2.50 MUFFLERS AND MANIFOLDS
GRAPHITE/MOLDED CARBON 7741 Muffler, polished (chrome 100K) ...........cccccovviiiiiiiiinnnn, 37.00 O o
1722 Woven Graphite RAdio Tray ........ccccooviivviiiiiiieiis 39.00 7743 Muffler, purple anodized ............ccooveivviiiiiiiiiee 37.00
2236 Carbon Front A St .........ccooovvvveoeeeoooeeerceeeseeeoeeeee 11.00 | 2354  NTC3 Rear Exhaust Dual-Chamber Muffler ................... 49.99 #1728
2241  Carbon R/L Steering / HUb COrTiers .........c..occocevvveiiiiicinnn. 7.00 NTC3 Rear Exhaust Muffler, 54.99 each
2244 Carbon Rear Amm Set .....ocooviiiiiiiiiicccce e 11.00 1755 Blue. 1756 Natural. 1757 Black.
2248  Carbon F/R ShOCK TOWET .......ccoovviiiiiiiiieieiciceceeeaa 7.00 NTC3 Rear Exhaust Manifold, 14.99 each
2255  Carbon Chassis Braces ..... e 8.00 1759 Blue. 1760 Natural. 1761 Black.
2259 Carbon RACO TraY .....ccovvviiiiiiiieiee e 8.00 NTC3 Rear Exhaust Dual Chamber Muffler, 59.99 =
2261 CAMDON HANGIE w..vvr oo oo oo eosee oo 4.50 1763 Blue. 1764 Natural. 1765 Black. 2 § 2 -~
2327  NEW Rear Shock Tower, carbon, v.2 .... e 1.00 NTC3 Side Exhaust Manifold, 17.99 each 2
2336 NEW Rear Hub Carrier, carbon, V.2 ........cccocooveiviiiniinnnn, 7.00 1767 Blue. 1768 Natural. 1769 Black. = -
2339  NEW Rear Suspension Arm, carbon, V.2....................... . NTC3 Torque-tuned Side Exhaust Muffler, 31.99 each g —_—
2342  NEW Complete Carbon Kit, for v.2 kits , 1771 Blue. 1772 Natural. 1773 Black. -
2371 Complefe Carbon Kif, V.1 ....ovvvvereeeren, ) NTC3 RPM-tuned Side Exhaust Muffler, 31.99 each
3949  Carbon Wheel Hex Adapters (4) ................. . 1774 Blue. 1775 Natural. 1776 Black.
MORE HOPUPS HEADS FOR AE .12 ENGINE, $44.99 EACH
1652  NEW Polished Hinge Pins, Nifro TC3 ........... = . . 29090 Black 29091 Blue 29092 Purple
1654  Factory Team Solid Axle Pins ................ e b, 3988  Complefe Tuning Spring Set (9 pair) 34.99
1700  Light Weight Two-Speed One-Way HUD ..o, . SPRINGS, $3.00 A PAIR NEW
1702 Light Weight Two-Speed Clutch Bell . 3942 Silver, 14.5 Ibs. 3944 Gold, 19.5 Ibs. 3946 Copper, 25.0 Ibs.
1704 Solid F/R AXIE ..o, , SPRINGS, $5.00 A PAIR
1709  Brake Cam Bearing Kit ...... 3941 Green, 12.0 Ibs. 3943 Blue, 17.0 Ibs. 3945 Red, 22.0 Ibs.
1711 PTFE-Sealed Bearing St ... 3952 Purple, 30.0 Ibs. 3953 Yellow, 35.0 Ibs. 3954 Whife, 40.0 Ibs.
1714 Swing Rack Bearing Kit .......................... Moo . (3]




TC3iTiouring Car

Factory Team TC3 Kit, #3035
(Photo includes parts not in kit)

#3928

#3974 € '

Complete TC3
Graphite Chassis
Component Set

#3961

#3885

#3894

S
et

#3888

#3913

8844

#1598

#3972 i%i #3978

BLUE TITANIUM TURNBUCKLES

1356 Titanium Turnbuckle Set ... 30.00
1414 1.125” TUMDBUCKIES (PL.) 1oivviiiiiieciee e 9.00
BLUE ALUMINUM

1598  ShOCK CAPS (4) ..ot 11.95
1777  NEW Shock Pivot Ball with Eyelet. For 4 sShockS............cccccvvviinne. 6.99
1779  NEW Servo MOUNES (2) ..vvvviiiieiiiieiieeeie et 15.99
3888  TC3 CVD BONES ..ot 22.00
3927  TC3 Radial Clip-on Heatsink, Narrow (use W/#3933) ...........ccoce... 11.00
3928  TC3 Radial Clip-on Heatsink, Wide (use w/#3931) ....... ... 13.00
3935 TC3 Screw Kit....cooviiiiiiiiceieieeece e ....13.00
3936  VCS Macro Shock BodieS(PAIN) .......ecvvveeirieiiiiiiiesiiee e 14.00
3968  Counterfeit TraNSPONAET ...........cooiiiiiiiiiiiiii e 15.00
3962  TC3 Threaded Body Shock Kit (set Of 4) ....ooovvviiiiiiiiiiiiiiiec, 60.00
3963  Threaded Shock Bodies with collar (pair) ... ....20.00
3972 Hex DrivesS (4) ..ocovvveiiiiiiieiiiiciiicee e ... 15.00
3973  NEW Clamping Hex Drives, with SCrews (4) .......cccocooviiiiennnne. 21.99
3974  INEW Battery SIrap ....cocooiiiiiiiiicie e 21.00
6439  Shock End Cap. (1) See also #1598 ........cccoovviiiiiiiiiii 3.00
6937  4-40 AIUMLIOCKNUES ....ooviiiiiiiiiiiiics e 3.00
6943  8-32 AIUM.LOCKNULS ....viiiiiiiiiiiiiiic e 4.00
6946  4-40 X 5/16" Button Head Cap SCrews (6) ........ccccoevvvvvviveeiineeinnnnn 2.00
6947  4-40 X 3/8" Butfon Head Cap SCrews (B) .........cccovvvriiiiiiiiiiiienn 2.00
7673  4-40 X 5/16" Flat Head Socket Screw (6) .. ...2.00
7873  4-40 X 7/16" Socket Head Cap Screw (6) ........................................ 2.50

GRAPHITE/MOLDED CARBON

3849  TC3 Chassis, CArBON ........c.ooviiiiiiiiiiiiee 39.00
3854  TC3 Battery Hold-down Strap, Carbon ...........cccceeiiiiiiiiiiiie. 10.00
3869  TC3 Front Block Carriers, O degrees, Carbon ............cccoevviiiiiiinins 8.00
3877  TC3 Steering Blocks & Rear Hub Carriers, Carbon ..............ccccceveeee. 12.00
3880  TC3 Front & Rear Chassis Braces, Carbon ............ccocvevvvviiiiiicnnn. 10.00
3882  TC3 Front Shock Tower, Carbon ...........cccoeiviiiiiiiiiiiiceceeee 10.00
3885  TC3 Front A-Arms, CarbON ........cceviviiiiiiiiiiiiiice e 11.00
3894 TC3 Redr A-Arms, CarbON ..........ccooviiiiioiiioiiaiieieee e 11.00
3896  TC3 Rear Shock Tower, CarbON ..........c.covivviiiiiiiiiciccecece 11.00
3961 TC3 Full Graphite Component Set ....75.00
3949  TC3 Wheel Hex Adapters, Carbon (4) ....ccccovvveeiriiiiieiiiee e 5.00

3941 3943 3945 3946

%%2

#1414 4 #1779
3952 3953 3954

MORE HOPUPS

1451 TC3 200mm Conversion Kit (from 190mm to 200mm) ................. 59.95
1651 NEW Polished Hinge PiNS .........ccccooiiiiiiiiiie 10.00
1654  NEW S0lid AXIE PINS .....oiiiiiiiiiiii it 4.00
1703  TC3 Solid Front/Rear AXle .............ccovevren 25.99
1729  NTC3/TC3 Heavy Duty One-Way Housing .... ...40.00
1731 Special Bearings for Heavy Duty One-Way ............cccoooiiiiiiiiiiinnns 8.00
1732 Heavy Duty One-Way RiNG GEAT .........ccoovvvviiiiiiiiieiieee 4.00
3847  Complete Tuning Guide: TC3 (6-BOOK) ..........cceevveennnn.

3913  TC3 Light Weight Diff Assembly (uses #3916 bearings) .

3932  Machined Motor Adjustment Cam ............ccoeevioiiiiiins

3933  Machined Motor Adj. CIAMP ....ooovviiiiiiiiic e

3939  TC3/NTC3 Front One-way Solid Axle Differential Ring Gear

With FOur MouNnting SCrEWS .........oviiiiiiiiiiiis s 6.00

3978  TC3 Heavy-Duty Front One-way Assembly .......... 61.99
3979  TC3 Heavy Duty Front One-Way Outdrive (Pair) .......c.cccvvevviiiiienns 21.00
3970  TC3 PTFE Sealed Bearing Kit ..........ccocoeviiiinn. 120.00
3971 TC3 Steering Rack Bearings (4) .......coovovviiiiiiiiiiiiici 12.00
3960  TC3 Front or Rear Anti-roll Bar Kit .........cccoovviiiiiiiiiicic 8.00
3964  TC3 Unobtanium Shock Shafts, .35” stroke (pair) ... ..11.00
3965  TC3 Axle Bearing Spacers,Blue (4) .......cccooviiiiiiiiiiiiiiiiiceee 4.00

SPRINGS, $3.00 A PAIR NEW

3942 Silver, 14.5 Ibs. 3944 Gold, 19.5 Ibs. 3946 Copper, 25.0 Ibs.
SPRINGS, $5.00 A PAIR

3941 Green, 12.0 Ibs. 3943 Blue, 17.0 Ibs.
3952 Purple, 30.0 Ibs. 3953 Yellow, 35.0 Ibs.

3945 Red, 22.0 Ibs.
3954 White, 40.0 Ibs.
3988  Complete Tuning Spring Set (9 Pair) .....cccooiviiiiiiiiiiiciee 34.99

TC3 RALLY/200mm

1360  Blue Titanium Turnbuckle Kit, RCTOTC3 Rally .........ccccovvveiviiiiiienns 34.00
3889  TC3 Blue Aluminum 200mm CVD Bones (Pair) ..........ccccecvvevveeienns 22.00
3956  TC3 Rally Pro-Line 24MM Wabash wheel (pair) .........ccccoceoviviininn 5.95
3957  TC3 Pro-Line rally tire with foam insert (Pair) .........ccccoovvieiiiiiins 12.50
3980  TC3 Rally Front BUMPET .......cooviiiiiiiiiiic 4.00
3982  TC3 200mm Front Arm (PAIN) .....oooveiiiiiieeieiie e 6.00
3984  TC3 200mm Rear Arm (PAIN .vvvevrieeireeiireeir e ia e 6.00
3986  TC3 200mm Composite CVD (PAI) ..c.oovvivieiiiiiieieeieeee e 10.00



RC10B4 Buggy.

RC10B4 Kit
(Photo includes parts not in kit)

&

Factory Team B3 Kit, #9043
(Photo includes parts not in kit)

RC10B3 Buggy.

BLUE TITANIUM TURNBUCKLES

1282  Titanium Turnbuckle Set for B4 ..........c..ccooveeevinnns
1406 2°/51Tmm Blue Titanium Turnbuckles
1409 17/25.5mm Titanium Turnbuckles ............

BLUE ALUMINUM

1585  NEW B4 Center Drilled AXIe (2) ..o

1598  Shock End Cap (4) See also #6439

1777  NEW Shock Pivot Ball with Eyelet. For 4 shocks................. 6.99

1779  NEW Servo MoUNtS (2) c.vvviiiiiiiiiicei e e 15.99
4145  4-40 X 5/16" Socket Head Cap Screw (6) ... .1.50
6439  Shock End Cap (1) See also #1598 .... .3.00
6937  4-40 Aluminum Locknuts (6) ........... .3.00
6943  8-32 Aluminum Locknuts (B) .................. .4.00
7673  4-40 X 5/16" Flat Head Sockef Screw (6) .............. 0. == .2.00
9600B  Motor Plate (1) ...oooveeviviiiiiiiiiiieiieee .8.00
9608B  Wheel Spacer (Pr.) .. .4.50
9610B  Servo Saver BOlf. ........ooviiiiiiiiiic e 3.50
9665  Hinge Pin Brace, v.2 (1) ........ e 11.95
9623 INliNE AXIE (PL) oo 7.50
GRAPHITE/MOLDED CARBON

9561 B4 Chassis, carbon (1).....ccooiiiiiiiiii e, 40.00
9565 B4 Rear Chassis Brace, Front Hinge Pin Brace, carbon (1) ............... 7.00
9567 B4 Top Plate, carbon (1).....ccoooiiiiiiiiiiii 7.00
9569 B4 Front Shock Tower, carbon (1)...........gmu.oveeeee sl oevnne 7.00
9573 B4 Rear Shock Tower, carbon (1)............. . [ 9.00
9579 B4 Front A-Arm, carbon (Pr)..cc.covvvvvvvvee B ... .9.00
9583 B4 Rear A-Arm, carbon (Pr) ..... .9.00
9586  Battery Strap, carbon (1) .............. ; 7.00
9594 B4 Woven Graphite Battery SIrap .............. ;o3 oo gy 14.00
9655 B4 Full Carbon Parfs Set (Sef) .......... o ... 4%..... 70.00

MORE HOPUPS

1581 Buggy Front Spring Kit (4 pair) ................ 8.99
1582 Buggy/Truck Rear Spring Kit (5 pair).... 11.99
1654  Factory Team Axle Pins (4) ...........c..... ...4.00
1766  B4/T4/GT Lightweight Outdrives ..... PPN 19.99
1770  B4/T4 Milled Motor Plate, Blue ...... TR TPON 14.99
1778  B4/T4 Milled Motor Plate, Black. SR 14.99
3971 Steering Rack Bearings (4).......covvviviiiiiiiiiiii 12.00
6417  Unobtanium Shock Shaft, 1.02” stroke (1).......cccooeeviiiiiinnnn. 6.00
6418  Unobtanium Shock Shaft, .071” stroke (1)......ccccovvviiiiiiiiinnnnn. 6.00
9312  Threaded Shock Body, .89” stroke, hard anodized,

with Collar and Collar O-1fiNG (PF.) .....cooviiiiiiiiiie e 20.00
9577 B4 Steering Block, Inline (Left & Right,Pr.)......... X

9592 B4 Caster Block, 20° (left & right,Pr.) .......... -

9593 B4 Caster Block, 30° (left & right,Pr.) ......... NGeE=_==E0

9635 B4 Rear Sway Bar Kit. Includes color coded bars

soft (black), med. (silver), hard (gold), (1) «coooviiiiiiiiii 9.99

9656  NEW Complete Tuning Guide: B4 e-Book . ..5.95
9657  Heavy Duty Servo SQVEr SPriNG ........ccovvviiiiiiiiiiiiisiesin e 1.50
9662  Threaded Shock Body, 1.18” stroke, hard anodized, with
Collar and Collar O-TiNG, (PF.) «.v.vveoireieiiieei e 20.00
9665  Hin iiBrace, with hinge pins 11.99
#9600B / \
R #9616

#9610B wlemmis /19565 #9567 #9565

#9583 [I ﬂ ﬂ I

#1654

= =

#9586

#1766 5

#9561

g
BLUE TITANIUM TURNBUCKLES
1207 B3 Facfory Blue Titanium Turnbuckle Kit .............c.oocoiiiiiiiin 27.00
1603 B3 Titanium Turnbuckle/Hinge Pin COMDO ..........ccooovvviiiiiiiiin, 41.00
BLUE ALUMINUM
1598  Shock End Cap (4) See aISO #6439 .......coovvvvivieiiiiiiieciicecire 11.95
1777  NEW Shock Pivot Ball with Eyelet. For 4 shocks....
1779 NEW Servo MOUNIS (2) ...vvviiiiiiiiiie it 15.99
6220B  Front Inline Axle, blue. 5-40 axle thread .............cccoceiiiiigiiiiiens 7.50
6193B  Wing BUIONS .......cccoovvviiiiiiiiiei 4.50
6439  Shock End Cap (1) See also #1598 .. 3.00
6937  4-40 Aluminum Locknuts (6) ............ ..3.00
6943  8-32 Aluminum Locknuts (6) ..... e 4.00
7221B Inline Front AXleS ..............c..... (TUTTRTRTRN 7.50
9156B  Servo Saver Tube & Nutf .................... . 6.50
9210B  Factory Blue Front Kickup (nose plafe) 10.00
9241B  Rear Chassis Plate ............cccccoeiein. ..12.00
9245B  Motor Mount PIOte ..........coiviiiiiiiiiiiiii e 8.00

LIGHTWEIGHT ALUMINUM SCREWS

4145 4-40 X 5/16"S.H. (6) 2.00 6946 4-40 X 5/16"B.H. (6) 2.00
6284 4-40X 1/4"SH.(12) 4.00 6947 4-40X3/8"B.H.(6) 2.00
6860 4-40X3/8"SH.(6) 2.50 7658 8-32 X 3/8" FH. (6) 2.00
6933 4-40 X 5/16"FH. (6) 2.00 7673 4-40 X 5/16"FH. (6) 2.00
6934 4-40 X 3/8" FH. (6) 2.00 7873 4-40X7/16” S.H. (6) 2.50
6938 4-40 X 2" FH. (6) 2.00 9290 B3 Screw Kit 7.00
6939 4-40 X 1/4" EH. (6) 2.00

GRAPHITE/MOLDED CARBON

7334  Battery Hold Down Strap, exira long, Carbon ............cccccevviviiiicnnens 5.00
9108 B3 Front Arms, CarbON .........ooveiiiiiiiiiieiiee e caaieee 9.00
9131 B2/B3 Top Plate, Carbon......... : < SO 8.00
9143 B3 Front Shock Tower, Carbon........ 13.00
9199  B2/B3 Standard Chassis, Carbon ... 45.00
9202 B3/B2 Chassis, short, Carbon ............... { . ...45.00
9232  Battery Hold Down Sirap, short, Carbon ............. e . 5.00
9256 B2 Rear A-arms, Carbon ....................... 10.00
9258 B3 Rear Arms, Carbon ................... ...10.00
9271 B2/B3 Rear Shock Tower, Carbon ..............cc.ccoveee. RUVURTRRT 7.50
9280 B3 Lo-profile Rear Shock Tower, Carbon (Worlds) ..........ccccevvvvvernnnn 7.50
9229  B2/B3 Battery Strap (standard), Carbon .................. TP 5.00
9381 Transmission Brace, CarboN ...........ccccvvviviiiiieeeiieeeieescie s 6.00

MORE HOPUPS

1581 Buggy Front Spring Set (4 pair) .............

1582  Truck/Buggy Rear Spring Set (5 pair)

1603 B3 Titanium Hinge Pin Sef.....................

1654  Factory Team Solid Axle Pins ................. 7

6197  Complete Tuning Guide: B3 €-BOOK...........cc.ooceirveiiiiiiiiiiiiicn

6416  Unobtainium Shock Shaft, 1.32 stroke (1) ......cccooviviiiiiiiiiiiiiiei

6417  Unobfainium Rear Shock Shaft, 1.02” stroke (1) .

6418  Unobtainium Front Shock Shaft, .71 stroke (1) ...

9162  Ball Bearings for B2/B3 Servo SQVEr .........cccoovviviiiiiiiiiiicice
#9280

#9143

g E o255

#9245B

#9290 #7221B

oAl

#9210B




RC10T4 Kit

Factory Team T3 Kit, #7048
(Photo includes parts not in kit)

- J
BLUE TITANIUM TURNBUCKLES

1283  Factory Blue Titanium Turnbuckle Sef for T4 ... 29.00
1408 2,85 /B7MM ..ot 10.00
1409 T/25.BMM coiiiiiiiei e 8.00
TA1T7 280" oo B 10.00

BLUE ALUMINUM

1598  Shock End Cap (4). See also #6439 ............ccceevvnnnn
1777  NEW Shock Pivot Ball with Eyelet. For 4 shocks
1779  NEW Servo Mounts (2) ....ooovvvvevveeirieiieiiiieans
6439  Shock End Cap (1). See also #1598 ...
6937  4-40 Aluminum Locknuts (B) ..............
6943  8-32 AluM. LOCKNUIS (B) ....ccovviiiiiiiiiiiiiiciicccee e

7459  INlNE AXIE (PL) oo 7 50
7673  4-40 X 5/16" Flat Head Socket Screw (6) ... ...2.00
9600B  Motor Plate (1) ...ooovevoiiiiiiieineceree ..8.00

9608B  Wheel Spacer (Pr.) ..
Servo Saver Bolt ... A i
9616  Hinge Pin Brace, V.1 (1) ..o NS oo 10.00
GRAPHITE/MOLDED CARBON
7441 T4 Chassis, Carbon (1) ......cccven. A
7443 T4 Front Shock Tower, Carbon (1) ....
7445 T4 Rear Shock Tower, Carbon (1) .....
7452 T4 Woven Graphite Baftery Strap ......
7447 T4 Front A-Arm, Carbon (Pr).........
7449 T4 Rear A-Arm, Carbon (Pr.) .....
7451 T4 Battery Strap, Carbon (1) ....ooooeviiiiiens )
7467 T4 Full Carbon PaAMS SEf........c.cooviiiiiiiiiiiiiiiiiree e
9565  T4/B4 Rear Chassis Brace, Front Hinge Pin Brace, Carbon (1) ..........
9567  T4/B4 Top Plate, Carbon (1) .vvevivveeiiiiiiieeiieee e
MORE HOPUPS

1680  Truck Fronf Spring Kit (5 Pair) ....coooviiiiiiiiiiii 11.99
1582  Buggy/Truck Rear Spring Kit (5 pair).............. ol B 11.99

1654  Factory Team Axle Pins (4) ................. : ' 4.00
1766  B4/T4/GT Lightweight Outdrive sef .... .19.99
1770  B4/T4 Milled Mofor Plate, Blue ......... : o 14.99

1778  B4/T4 Milled Motor Plate, Black ..... . e 14,99
3971 Steering Rack Bearings (4) ........ccccoovvenenn.

6416  Unobtfainium Shock Shaft, 1.32” stroke (1) .... X 6.00
6417  Unobtfainium Shock Shaff, 1.02” stroke (1) ...cccoovvvviiiviiieciieein 6.00
7412  Threaded Shock Body, 1.39” stroke, hard anodized.

With Collar and Collar O-fiNG (Pr) ....cveviioiiiieeiieiee e 20.00
7414  Threaded Shock Body, 1.02” stroke, hard anodized.

With Collar and Collar O-riNg (Pr.) ....voviviiiiiiiiie s 20.00
9577  T4/B4 Steering Block, Inline (Left & Right, Pr.) . .. 5.
9592  T4/B4 Caster Block, 20° (left & right, Pr.) ..c.ocoovvviviiiiiiiiiiiiiinn .4.00
9593  T4/B4 Caster Block, 30° (left & right, Pr.) .......ccooiiiiiiiiiiiii 4.00

9635  T4/B4 Rear Sway Bar Kit. Includes color coded bars,

soft (black), med. (silver), hard (Qold) .........c.ocoiiiiiiiiiii
9657  Heavy Duty Servo Saver Spring
9665  Hinge Pin Brace, with hinge pins, V.2 ..........ccccoiiiiiiiii,

#9567 ' #9565 '
#9577
/"#9635'\\ “ #1409 #7441

#9600B 4

#1766

#9665
-l G #9565

#9610Bey immm— 47451

N\
BLUE TITANIUM TURNBUCKLES
1280  T3/T2 Blue Titanium Turnbuckle Kit ................cccoee,
1408  Blue Titanium Turnbuckles, 2.65°/67mm (2) ... W/ 7
1521 T3 Titanium Turnbuckle/Hinge Pin Combo ............, 4/
BLUE ALUMINUM
1598  Shock End Cap (4). See also #6439 ...............4#.. .
1777  NEW Shock Pivot Ball with Eyelet. For 4 shocksS...............cccccveen. 6.99
1779  NEW Servo Mounts (2) ........ccceeeenen. 15.99
6439  Shock End Cap (1). See also #1598 ... Sl W 455 55 ... 3.00
6860  4-40 X 3/8"S.H. (B) .ccvovvvvrrrrn... P SRR 2.50

6933  4-40 X B/T6" FH. (B) ovvvveiiieiiiieeee e 2.00
6934  4-40X3/8"FH. (B) .cccvovvvvviiiiinn,

6937  4-40 Aluminum Locknuts (6)
6938  4-40X V2" FH. (B) ..coovivnn.
6943  8-32 Alum. Locknuts (6) ..
6946  4-40 X5/16"B.H. (B) .veovvoviiiiiiiiiinciiee e
6947  4-40 X 3/8"B.H. (B) .oovvovviiiieiieiee e )
7221B Inline Front AXIES .........coovviiiiiiiiene,

7299 T3 Factory Blue Aluminum Screw Kit ...
7305B  GT Noseplate (also fits T2) .....cccovvviiiinnn.
7673  4-40 X 5/16" Flat Head Socket Screw (6)
7873  4-40XT7/16"SH. (B) ..ooovovviviiiin,

9156B  Blue Servo Saver Tube & Nut ....

9210B  Front Kickup (nose plate) .........

9241B  Rear Chassis Plafe ...........
9245B  Motor MOUNt PIATE ....cccvviiiiiiiiiiccc et 8.00
GRAPHITE/MOLDED CARBON

7204 T3 Front Arms, CArbON ..........oooviiiiiiiiie e 10.00
7214 T3 Front Shock Tower, Carbon e 6.00
7219 T3 Front Shock Tower, Graphite Weave ..............cccooviviiiiiinieennn. 12.00
7309 T3 Chassis, XL, CArBON ........coccviviiiiiiiiiiie s 35.00
7334 T3 Battery Strap XL, CArbon ..........cocoiiiiiiiiiiiiii 5.00
7339 T3 Rear Arms, Carbon ............. ....10.00
7349 T3 Rear Shock Tower, Carbon ...........cocvviiiiiiiiiiiciccee e 8.00
9131 T3 Top Plate, Carbon .......oovieiiiiiieccc e 8.00
9381 Transmission Brace, Carbon ...........cccccveeviviiiiiiiiiiiciiceeiee e 6.00

MORE HOPUPS
1580  Truck Front Spring Set (5 pair) ......cccovveiiiiiins
1682  Truck/Buggy Rear Spring Set (5 pair) .. 2
1603 T3 Titanium Hinge Pin set .................. -
1654  Factory Team Solid Axle Pins .........ccccovvvvn .
6416  Unobfainium Rear Shock Shaft, 1.32” sfroke ........

6417  Unobtainium Front Shock Shaft, 1.02” SIroke ...........c.ccceevvviiiincn. 6.00
6419  Unobtainium Shock Shaft, .56” SIOKE ..........cccooviiiiiiiii 6.00
7191 Complete Tuning Guide: T3, €-BOOK ..........cccoovvviiiiiiiiiiiiiin 5.95
7700  PTFE-Sealed Bearing Set (16) ......coveevveenee. ....95.00
9162 __ Ball Bearings for B3/B2 Servo Saver (2) .......ccccoevviviiiiiiiiiiins 15.00

#92418B

#7339
#7219 #7204

(O

#7349



RC10GT Gas Truck

#7714 #7712 #7713 #7656 #7216

Factory Team RC10GT Kit, #7060
(Photo includes parts not in kit)

-
BLUE TITANIUM TURNBUCKLES
1280  Blue Titanium Turnbuckle Kif, RCTOGT /T2 /T3 .....ccovvviiiinnn 30.00

1401 1.30”/33mm (pair)
1408  2.65"/67mm (pair)

1520  GT Titanium Turnbuckle/Hinge Pin Combo ..........ccccooieiiiiiiins 46.00
BLUE ALUMINUM

1598  SNOCK CAPS (4) .ottt 11.95
1777  NEW Shock Pivot Ball with Eyelet. For 4 shocks........................ 6.99
1779  NEW Servo Mounts (2) ....ooovvvveiiiiiiiiiiieiiieeans ... 15.99

6220B Inline Front AXIES .........cooeviiiiiiiiiis RTT 7.50
6439  Shock End Cap (1). See also #1598 ... TP
6937  4-40 Aluminum Locknuts (B) .........coooveviiviiiiiiiiiiiciieeeeeeiee
6943  8-32 AluM. LOCKNUIS (B) ....eovveeiriiieiiieiiie e
7525B  GT Tub Chassis ..................... .
7561B  Brake Adapfer...........cocceeviiiiiinnns
7769  One-piece GT Chassis (non-tub)....
91566B  Servo Saver Tube & Nuf ................
LIGHTWWEIGHT ALUMINUM SCREWS
4145  4-40 X 5/16" Socket Head Cap Screw (B) ..........cccvvvvviiiiieiiennn.
6284  4-40 X 1/4" Socket Head Cap Screw (12) ...
6860  4-40 X 3/8" Socket Head Cap Screw (6) .....
6933  4-40 X 5/16" Flat Head Socket Screw (6) ...
6939  4-40 X 1/4" Flat Head Socket Screw (6) .....
6942  8-32 X 2" Flat Head Machine Screw (6) ............
6946  4-40 X 5/16" Button Head Cap Screws (6) ...
6947  4-40 X 3/8" Button Head Cap Screws (6) ......
7673  4-40 X 5/16" Flat Head Socket Screw (6) ...
7675  Lightweight Aluminum Screw Set (70) ...............

7676  Lightweight Aluminum Screw Set, GT RTR (70) ...cooooviiiiiiiiinns 17.00
MUFFLERS

1771 Torque-Tuned Side Exhaust Blue Muffler ..............ccoceoiiiiiins
1772  Torque-Tuned Side Exhaust Natural Muffler .. .
1773  Torque-Tuned Side Exhaust Black Muffler.....
1774 RPM-tuned Side Exhaust Blue MUffler ...
1775 RPM-tuned Side Exhaust Natural Muffler ...,
1776  RPM-tuned Side Exhaust Black Muffler ........

7741 Torque-Tuned Side Exhaust Chrome Muffler .... ... 37.00
7743  Torque-Tuned Side Exhaust Purple Muffler ...........cc.cccocvvevvneennnn. 37.00
MANIFOLDS

7748  Black P/Start Manifold ............ccooviiiiiiiiisee 20.00
7749  Chrome P/Start Manifold ........ ... 20.00
7750  Blue P/Start Manifold ......... ... 20.00
7751 Purple P/Start Manifold ... ... 20.00
7756  Black Non-PS Manifold ....... ... 20.00
7757  Chrome Non-PS Manifold ... ... 20.00
7758  Blue Non-PS Manifold ............ ... 20.00
7759  Purple Non-PS Manifold ............cccooviioiiiiiiiiiiiiic 20.00

GRAPHITE
7216 Front Shock Tower, Graphite ...........covvvvviiiieiiieeiieeecee e 12.00
7656  Rear Shock Tower, Graphife ...........cccoeiiiiiiiiiiiiicieee e 17.00

MORE HOPUPS

1580  Truck Front Spring Sef (5 Pair) ......coooviiiiiiiiiiiiic
1582 Truck/Buggy Rear Spring Set (5 pair) ....
1620  GT Titanium Hinge Pin Set ....................

1654 Factory Team Solid AXIE PINS ..o 4,00
1738  Glow Starter, blue anodized handle, 110V ...........cocceeviveviineninnn, 29.99
1749  Nitro Fuel Boftle, 400CC ...........coovviiiiiiiiiiiicccceeeeee e 7.99

1750  NTC3/RC10GT Starter BOX .................
1766  BA4/GT/T4 Lightweight Outdrive Set .....

....99.99
..19.99

2403  Foam Air Filter for Large-Bore Carb ..........ccocvovviiiiiiiiiiii 6.95
6416  Unobtainium Rear Shock Shaff, 1.32” stroke ...........ccccoeeviiiiiinns 6.00
6417  Unobtainium Front Shock Shaft, 1.02” SIrOke ...........cccccovvviiiiiinnns 6.00
7190  Complete Tuning Guide: GT, €-BOOK ..........cccevviiiiiiiiiiiiiiiiieei 5.95
7700  PTFE-Sealed Bearing Set, for fransmission, front wheels and rear hubs.

For 3/16” rear axles only (16) ........ccoovviieiiiiiiiieiies ....95.00
7701 PTFE-Sealed Bearing Set, with cluich bearings (18) ..105.00
7710  Pre-Filter Treatment ........cccoooiiiiiiii 2.50
7712 Silver .190 Carb RESHICION ........cviiiviiiiiiiiii i 3.50
7713 Blue .180 Carb ReSHICION ........oooiiiiiiiiiiii 3.50
7714 Black .170 Carb ReSHTICIOr ........ccvvviviiiiiiiiiciie 3.50
9277  3/16" X 3/8" Ball Bearing, flanged (2) ....15.00
MC-59 .12 and .15 Hi-Performance GIow PIUg ............cccooiiviiiiiiiiinn, 3.95

Factory Team Heads
for RC10GT Plus .15 RTR
Engines, $44.99

#29061  #29060 #29062

#7748 #7749 #7750 #7751
Pull-Start  Pull-Start  Pull-Start Pull-Start

#7756 #7757 #7758 #7759

Non-Pull Non-Pull Non-Pull  Non-Pull #1772

#1775 #1774 #1776

#1771 #1773 ‘ 2 ‘ (7]



RC10L4 Oval
RC10L3/0Oval

RC10L3Touring

Factory Team RC10L4 Oval

Kit, #8019
g
BLUE ALUMINUM
1598  Shock End Cap (4). See also #6439 .......... . 11,95
3963  TC3 Threaded Shock Bodies (2) ....... . 20.00
4355B  10L Oval Axle Blue/Graphite ......
4442B Chassis Standoffs .................
4447  Ball Ends (8)
4448  Ball Ends & Cups, blue alum. (2)
4471B  VCS Shock Body with shock rod end ...........cccooioiiiiiiiiiine 9.00
45378 Right Mofor Mount bulknead ..................corvverinen. =S @ 24.00
6193B  Wing Buttons, blue alum. ........cccoociiiiiiiii 4.50
6439  Shock End Cap, blue alum. (1) See also #1598 ... - ...... 3.00
6943  8-32 Alum. Locknuts, blue alum. (B) ............oeevvveeco i 4.00
8213B  Thrust Cone and Axle Spacer, Blue ..............fl.. 8 ..o, 5.00
8321B  SS Rear Axle Spacers (2) ......cooovvvvveveeee 2.00
8450  VCS Macro Shock Body, QIUMINUM .......cviiiiiiiiiiiiiiiiic 6.75
8450B VCS Macro Shock Body, blue alum. ..o, 7.75
8443B  Blue Inline Fronf AXIES .........ccoiiiiiiiiiiiiis e 7.50
8459B  Blue Right Wheel Hub, TOL/LS/L2 & L3 Oval (offset pod) ..... ....18.50
8465B  Blue Alum. Left Clamp HUD .......ooovvviii, ... 19.00
8467B  Blue Right Wheel Hub LSO/L20 and L3 Oval (std. pod) ... ....17.00
8470  Blue AlUM. SCreW St ........ceovviiiiiiiiiiiiiiccece ... 11.00
8477B  Blue Right Wheel Hub, L3 TOUMNG ........cccvoiiiiiiiiiiiiiicicc 17.00

LIGHTWEIGHT ALUMINUM SCREWS
4145 4-40X5/16"SH. () 1.50 6946 4-40 X 5/16"B.H. () 2.00
6927 4-40X3/4"SH.(6) 2.00 6947 4-40X3/8'B.H. (6) 2.00
6934 4-40X3/8"FH.(6) 2.00 7673 4-40X5/16"FH.(6) 2.00
6938 4-40 X ¥2* FH. (6) 200 8409 4-40X %'FH.(4) 150
6942 832 X 5" FH. (8) 200 8439 832x5/8FH. (4) 150
MORE HOPUPS

1230
1231
1405
1681
15683
4538
4541
6418
6619
8449
8452
8453

10LS/10L2 Blue Titanium Turnbuckle Kit ................ [y i 9.00
L30/L3T/L20/LSO Blue Titanium Tumnbuckle Kit...... i) ] ..... 9.00
Blue Titanium Turnbuckles, 1.875"/48mm (2) .....J..éo. ). 9.00
Buggy Front Spring Kit. (Center VCS Macro Shock spring) . Y.2....... 8.99
Oval/Onroad Spring Set (10 pair) .....ccoovevviiirinnn, .. 18.99
Magnesium Right Motor Mount Bulkhead . ..33.00
Left Bulkhead, Carbon ..........ccccoovvviiincicnerer. il ... Y 5.00
Unobtainium shock shaft, .71” stroke (1).... ....6.00
1/8” Carbide Diff Balls (8) .....ccovvviviiiiiiiiciiiiciicccn . R . 8.00
VICS Micro Shock Spring, 16.0 Copper . ....2.00
VICS Micro Shock Spring, 10.0 Blue ..... Y AR 2.00
VICS Micro Shock Spring, 12.0 Gold ..................... l............. WM. 2.00

8454 VICS Micro Shock Spring, 14.0 Red ........ccooiiviiiiiiiiiiicc 2.00

8460  Graphite Chassis, for RCTOL3 Oval ... e, 60.00
8461 Lower Pod Plate, carbon .................. ... 12.00
8462 Rear Chassis Brace, CarboN ..........cccccoivvieiiiiiiieeiieee e 8.50
8463 Rear Chassis Brace, Carbon ..........cccccoveiiiiiiiiii i 8.50

8474  10L3T Chassis, graphite ...............
8475  10L3T Lower Pod Plate, graphite ...
8476 10L3T Dampener Plate, graphite .........
8478  10L3T Rear Chassis Brace, graphite ... UUTTRR 8.50

8488  Fronft Bumper, graphite (curved front) ... 17.99
8500  Right D Drive Diff Hub, std., blue ................... 26.50
8501 Graphite D Drive Pro Axle, blue (L40 kit std.) .. 26.95
8502  Right Long D Drive Diff Hub, blue 26.50
8503  Right Long D Drive Diff Hub, blue v 25,95
8509  VCS Micro Shock Spring Nut, blue alum. (2) ......cccoooiviiiiiii, 7.00
Factory Team Oval Chassis Kits

8485  10L3 Oval Factory Team Chassis Kit, 4 Cell ..................... 99.99
8486  10L3 Oval Factory Team Chassis Kit, 6 Cell ...................... 99.99

Upgrade Kits (above) Include These Graphife Chassis Components:
8487  Chassis (GraPhite).........ccceieiiiiiiiiiiiiiiie e
8488  Front Bumper (Graphite)... .

8489  Chassis Brace (Graphite) .......
8490  Tray Bracket (Graphife) ..........ccooovviiiiiiiiiiiiii e

8491  4-Cell tray (only in #8485 Kit) .........ccocovin, 18.99
8492  6-Cell tray (only in #8486 Kif)..........ooocooiiiiiii 21.99
#1231 #6619

@0 @0

@e @o

#8470

A

#8465B
#8467B

#8487

Factory Team RC12L3
On Road Kit, #4015

(Photo includes parts

RC12L3

RC12L3/0val

not in kit)

g

1250  12L3/LC/LS Blue Titanium Turnbuckle Kit .............c..ccooee . A....9.00
1404 Blue Titanium Turnbuckles, 1.775°/45mm (2) ... iy & A 9.00
1583  Oval/Onroad Spring Set (10 pair) .......c.cccocoveee. v f . 18.99
1599  Stub Axle, fitanium (2) ..o e 5.00
4145  4-40 X 5/16" Socket Head Cap Screw, blue alum. (6) ..........c..oe... 1.50
4178  12L3 /L3 Oval Lightweight Blue Screw Kit .................... ....10.00
44428  Chassis Standoffs, blue alum. ..................... mmES 5.50
4447  Ball Studs, blue alum. (8) ....ccccceovvveriinnnnn, i 8.00

4448  Ball Ends & Cups, blue alum. (2).....cccooviiiiiiiiiiiiiiiin 3.00
4471B  Blue VCS Micro Shock Body with Shock Rod End ...............ccecee. 9.00
4541 Left Bulkhead, Carbon ............ccccooiviiiiii e ... 5.00
45378 Right Molor Mount Bulkhead, blue alum. ... e

4538  Magnesium Right Motor Mount Bulkhead
4542  Carbon Damper Post, Antenna Mount, Roll-Stop Inserts,
T-Bar SPACEFS .....oovviiiiiiieiiecee e IR v seessensenenees e
4552B  Blue Left Hub, 12L3 (3-Bolf) ............. ? -~

4553B  Blue Right Diff Hub, 12L3 (3-bolt) ...........cccvvennen.
6193B Wing Mounts, blue alum. .065” and .078" wire ...
6619  1/8” Carbide Diff BallS(8) ........ccovvvvviiiiiiiiiiiiieienn,
6934  4-40 X 3/8" Flat Head Socket Screw, blue alum. (6) ...|.
6943  8-32 Locknuts, blue alum. (B) ........ccceevvviiiiiiiinnn,

6937  4-40 Locknuts, blue alum. (B) .........cceev. .
7673  4-40 X 5/16" Flat Head Socket Screw (6) ............. .
8213B Diff Thrust cone & Rear Axle Spacer, blue alum. ........

8409  4-40 X 2" Flat Head Socket Screw, blue alum. (4)
8439  8-32 x 5/8 Flat Head Screw, blue alum. (4).........
8449  VCS Micro Shock Spring, 16.0 Copper ........... .
8452  VICS Micro Shock Spring, 10.0 BIUE .........cccevviviiiiiiociin
8453  VCS Micro Shock Spring, 12.0 Gold

8454  \CS Micro Shock Spring, 14.0 Red Jiul = o 4
#4552B

#4178

#4553B



Allen Drlvers

Factory Team Allen Drivers
These high-quality Allen drivers include a color-coded aluminum hex handle with
precision-ground replaceable fip.

6990  Factory Team Allen Wrench Tool Set. Seven color-coded hex drivers with

replaceable tips. (Replaces #6980) .........covveiiiiiiiiiiiiiicec e 59.95
6957  .0507,Silver NANAIE .......c.ooviiiiiiiiiiii e 10.50
6958  1/16", BIACK ....oviviiiiiiiie e 10.50
6959  5/64”, Blue ..... UTRTR 10.50
6960  3/32", Gold..... PP 10.50
6961 2.BMM, GIBEN .ottt 10.50
6962  1.5MmM, PUMPIE ..ot 10.50
BI63 MM, REA ..ottt 10.50

Replacement Tips

BIBA 050" .o 5.50
6965
6966
6967
6968
6969
6963

Factory Team Tools

Factory Team materials

Titanium Blue Aluminum
Stronger and lighter than steel. Lighter than steel.
Carbon/Graphite

Lighter and more responsive than molded composite stock parts.
Unobtainium
For smoother shock action.

FACTORY = FACTORY -

ream ream

S

Factory Team Complete Tuning Spring Kits

3988 TC3/Nitro TC3 Touring Car Spring Set (9 pair).............. 34.99
1580 Truck Front Spring Set (5 pair)........ocooviiiii 11.99
1581 Buggy Front Spring Set (4 pair).......ocooovviiiiiiiii 8.99
1582 Truck/Buggy Rear Spring Set (b pair) ........ccooeviiiiiinnn. 11.99
1583 Onroad/Oval Spring Set (10 pair) .......ocovvvvviiiiiiinnn. 18.99

J
Tools
1170 Turnbuckle WIENCh ............oooiiiiiiiiiieece 1.60
1450  Factory Team Ride Height GAUQe ..........cooovvviviiiiiiiiiiicc 4.99
1593  Factory Tedm ReAMEr TiP ....ooviiiiiiiiiiiieeeic e 9.95
1694 Factory Team Body Mounting Hole Reamer .. ...22.00
1719  Factory Team Camber + Track Width TOOI ............cccooeviiiiiiiiiiin, 3.50
1721 Clutch Nut Wrench, 3/8" ..........cccooiiiiiiiiiiiie 2.00
1737 Factory Team Body SCISSOIS .........coviiiiiiiiiiiiiiiiiiie s 5.99
1738  Factory Team Glow Starfer, blue anodized handle, 110V ... ..29.99
3987  Factory Tedm Droop GAUGE .........ccvviveimriiiiiiiiiieeeeiie e 2.00
6953  Facfory Team Slotted Screwdriver ...... ...10.60
6954  Factory Team Phillips Screwdriver ..............c..oceenen. ...10.560
6985  Factory Team Slotted Screwdriver Replacement Tip ........cocooviiiiein. 7.50
6987  NEW Factory Team Exhaust Spring Hook tool ...............c.cccoeiene. 10.00
6988 NEW Factory Team Screwdriver and Spring Hook Set. 1 each Phillips,
Slotfed, Spring HOOK T00IS ...........ccoviiiiiiiiiiiii 29.99
6989  NEW Replacement Tip, Factory Team Spring Hook fool .................. 7.00
6429  Shock ASSEMDIY TOOI ........oviiiiiiiiiiiec e 1.00
6592  Allen WIenCh Sef ........ccooiiiiiiiiii e 2.50
6950  Allen Wrench Set, 3/32", 1/16", .050, .027 (in KifS) .......ccevvvrrvnenn 2.50

6956  Associated Molded Tool Set. Wrenches to install 11/32%, 1/4”, and 3/16"
nuts, adjust 1/8” and 3/16" turnbuckles, and install and remove Associated shock

(670 o 1 TSP PRSP RS PP 4.50
6986  Factory Team Phillips Screwdriver Replacement Tip ........cccvvvviiinnn 7.50
8416  Turnbuckle WIENCN .........cooviiiiiiiiiiic 2.50
25260 Monster GT Nut WIeNCh .........cooiiiiiiiiiiiiii e 3.99
25261 Monster GT Hex Driver Starfer SNAft ..........cccoovviiiiiiiiiiii 5.99
25384  Factory Team Monster GT Turnbuckle Wrench ..., 2.99
DS/DS Qualifier and NDS/NDS Qualifier Parts

1260  Blue Titanium Turnbuckle Kif, DS/ DSQ .........cccoovviiiiiiiiiiiiiiiiin, 23.00
1540  Titanium Turnbuckle/Hinge Pin Combo, DS/ DSQ ...........ccccoovveiinns 39.00
1640  Titanium Hinge Pin Sef, DS/ DSQ ........ccooviiiiiiiiiiiiiiiiic 18.00
1777  Blue Aluminum Shock Pivot Ball with Eyelet. For 4 shocks ............... 6.99
4447  Factory Blue Aluminum Ball Ends, DS/ DSQ (8) ......ccovvvvviviiiiiinn, 8.00
8809  Blue Aluminum Screw Kit, DS/ DSQ................... ...12.00
8810  Aluminum Screw Set, DS/ DSQ ........... ...12.00
8811 Front Arms, Graphite, DS / DSQ (pr.) .... e 8.00
8833  Front Shock Tower, Graphite, DS / DSQ ........cccccoovviiiiiiiiiiiiiiiii 12.00
8835  Front Arm/Shock Mount, carbon, DS / DSQ .........ccccocvviviiiiiiiiiine, 2.50
8845  Unobtfainium Shock Shaff, .35” stroke, DS / DSQ (1) . RTPTR 6.00
8871 Rear Shock Tower, Graphite, DS / DSQ ..........ccoovvviiveeiiiiiiiiiiiiieens 7.50
8901 Blue Aluminum Screw Kit, NDS / NDSQ ..........cceeviiiiiiiiiiiiiiien 17.00
9166B  Factory Team Blue Servo Saver Hub & Collar, DS/ DSQ.................... 6.50

HEADS FOR AE .12 ENGINE, $44.99 EACH
29090 Black 29091 Blue 29092 Purple 9



Hinge Pins & Turnbuckles [l Unobtainium Shock Shafts

=

N AN J

Titanium Hinge Pin Sets Unobtainium Shock Shafts

1603 RCTOB3 BUGY/T3 TIUCK ...t 15.00 6416 Unobtanium Shock Shaft 1.32” ... 6.00

1620 RCTOGT / RCTOT / RCTOT2 ..ottt 18.00 6417 Unobtanium Shock Shaft 1.02” ..o 6.00
6418 Unobtanium Shock Shaft . 717 ..o 6.00

Blue Titanium Turnbuckle Kits 6419 Unobtanium Shock Shaft .56” ..o 6.00

1130 Blue Aluminum Screw Kit, Traxxas Nitro Rustler .......................... . 8845 Unobtanium Shock Shaff, .35” ... 6.00
1205  Blue Titanium Turnbuckle Kit, RC10 World’s Car .... 3964 Unobtanium Shock Shafts, .35, (pair) ........cccocviviiiiiiiiiiin 11.00
1206  Blue Titanium Turnbuckle Kit, RCTOB2 Buggy ....
1207  Blue Titanium Turnbuckle Kit, RCTOB3 BUGQY .....cvvvovviivieeiiiiiiiians

1230  Blue Titanium Turnbuckle Kit, RCTOLS, RCTOL2 .........cccocveveveiannne, 9.00
1231 Blue Titanium Turnbuckle Kit, RC10L3/L20/LSO .....

1250  Blue Titanium Turnbuckle Kit, RC12L3/LC/LS .....
1260  Blue Titanium Turnbuckle Kit, DS / Nitro DS .......
1280  Blue Titanium Turnbuckle Kit, RC10GT / T2 / T3.
1282  Blue Titanium Turnbuckle Kit, B4 Stealth..............c.ocooiiiiiii
1283  Factory Blue T4 Titanium Turnbuckle Set............cccoovviiiiiiiiinn,
1356  Blue Titanium Turnbuckle Set, TC3 .................

1360  Blue Titanium Turnbuckle Kit, RCTOTC3 Rally
1366  Blue Titanium Turnbuckle/ Ball Ends/ Cups Kit, Traxxas Rusfler ....... 44.00

Blue Titanuim Turnbuckles (pairs)
1401 Blue Titanium Tumnbuckles, 1.307733mMm (2) .......ccoceviiiiiiiiiiinens 8.00

1402  Blue Titanium Turnbuckles, 1.375°/35mm (2) ....ccoccoovvviiiiiiiin, 8.00

1403  Blue Titanium Turnbuckles, 1.65742mm (2) ......ccccoevvvveeiiveeiiieeenn, 9.00

1404 Blue Titanium Turnbuckles, 1.775°/45mm (2) ....coocovvviiiiiiiinc, 9.00

1405  Blue Titanium Turnbuckles, 1.875°748mmM (2) ....cccccovvviviiviiiieeenn, 9.00

1406  Blue Titanium Turnbuckles, 2.00°/51mm (2) .... TR 9.00 \_ )

1407  Blue Titanium Turnbuckles, 2.30°/568.5mm (2) . EUPRR 10.00

1408 Blue Titanium Turnbuckles, 2.65/67mm (2) ........ e, 10.00 Factory Team Blue Aluminum Screw Sets

1409  Blue Titanium Turnbuckles, 1.007/25.5mm (2) . FETTT 8.00 3935 TC3 SCIEW Kit ... 13.00

1410  Blue Titanium Turnbuckles, .63/16MmM (2) ...cocooiiiiiiiiiiiiii 8.00 8115 ROTOLS/LSO oo e 8.50

1411 Blue Titanium Turnbuckles, .75719MM (2) ...c.cccoovvviiiiiiiiiiinns 8.00 7675 RCTOGT GAS TIUCK ....vveivieeieeeeeeeteee e 17.00

1412 Blue Titanium Tumnbuckles, 3.50°/89mm (1) ..., 8.00 6910 RC10 (Al Alum. Chassis Models) ... ..12.00

1413 Blue Titanium Turnbuckles, 1.50" (1) ......ccoooviiiiiiiiiiie 9.00 9290 RCTO B2 /B3 BUGJQY «..vevevveveveeeeiietee ettt 7.00

1414 Blue Titanium Turnbuckles, 1.125/38mm (2) .. VTR 9.00 7300 RCTOT TTUCK «oveveer oot e s 11.50

1415  Blue Rear Toe Turnbuckles, ver.1 (2) ..o TP 9.00 7303 RCTOT2 TIUCK ..ottt 13.00

1417  Factory Team Blue Titanium Turnbuckle, 2.80" (2) .........coceevveennn. 10.00 7299 RCTOTS TIUCK .. vveeeve oot ee e 8.50
4178 RC12L3/L3 Oval... ...10.00
4179 RCT2LS /LG ittt 7.00
8470 RCTOL3 OVl .o 11.00

Starter Box

Factory Team Starter Box

The Factory Team Starfer box fits the Nifro TC3, RC10GT, and most other
popular nitro vehicles. Uses two standard 6-cell Ni-Cd packs for power
(not includeqd).
1750 Factory Team Starter BOX ..........coovviiiiiiiiiiiiiiiii




Other Parts

g J
Other Factory Team Parts

1105 Green Slime® Shock Lube.................. ST PR RPPP 2.50
1595 Chassis Lead Weights, 1/4 0z. (12) ...... e 3.00
1596 Factory Team Thread Locking AdNESIVE ..........cccooiiiiiiiiiiiie, 3.95
15697 Factory Team Tire ADNESIVE .......ccooviiiiiiiiiiiic e 6.95
1598 Factory Blue Shock Caps, Blue anodized alum. (4) .... .. 11.95
1734 Body Clips, mefallic blue. 4 long, 6 shorf ...,
1735 Body Clips, mefallic blue. Long (4) ..........

1736 Body Clips, mefallic blue. Short (6) ...

6312 Chassis Protective Sheet ...

4447 Factory Blue Aluminum Ball Ends (8)

6937 Factory Blue 4-40 Locknuts (B) .........ccccovveiviioiiiiiiiiiieieeieen
6943 Factory Blue 8-32 Locknuts (6) .........ccccovveviiiiiiiiiiiiiiiccicn

Visit the Team Associated web site!
http://www.TeamAssociated.com or hitp://www.rc10.com

Cylinder

J

Factory Team Cylinder Heads

Keeps your engine running cooler for increased power and more consistent tuning.
Available in black, blue, or purple anodized finishes, this new cylinder head looks as
great as it performs! For AE .15 and AE .12 engines.

29060  Black .15 Cylinder Head
29061 Blue .15 Cylinder Head .........cocooiiiiiiiiiiiiiii
29062  Purple .15 Cylinder Head
29090  Black .12 Cylinder Head
29091 Blue .12 Cylinder Head .......
29092  Purple .12 Cylinder Head

~
Ordering Info
Please check your local hobby shop for parts first.
Credit card orders welcome. Include your credit card number, expiration date,
and name as it appears on the card. (VISA, MC, AmEX, Discover)
Ordering by mail or fax:
1. Write out your order on a separate sheet of paper. Include part number,
quantity, and price of each item. Include your phone number, full name, and
mailing address that credit card statement is mailed fo.
DO NOT SEND CASH.
2. California residents ONLY add 7.75% sales tax.
3. Add shipping fee of $6.50 to all orders. Faster Red, Orange, or Blue Label
UPS Shipping and international orders require extra charges.
4. Infernational orders placed by credit card must be PRE-APPROVED.
International Orders not placed by credit card must be prepaid by International
Money Order in U.S. funds.
5. Send your order to:
Associafed Electrics, Inc. Ph: (714) 850-9342
3585 Cadillac Ave. Fax: (714) 850-1744.
Costa Mesa, CA 92626 USA.

J

Decals and Apparel

3824 Factory Team Driver Decal, 10" by 4 1/4” ... 2.00
3825 Factory Team Logo Decal Sheet

SP-406  Factory Team Cap, blue ...............

SP-407  Factory Team Cap, BIACK ........c.ooviiiiiiiiiiiiie .
SP-409  Associated Team Cap, Dark BIUE ..........covvvveiiiiiiiiiiieeiirceieens 19.95




ACTOR)

Factory Team TC3
#3035, 1:10 Electric On Road

W A P i ;
-Factory Team GT
#7060, 7'061, .Ni'_cro(Off _Road

Factory Team RC10L40 §
#8019 EIect ic OvaI

(Some.photos include items not prowded in klts)

provide \\J




